ANSWERS => fveRAGE RATE OF (HANGE

I AveRAGE SPRED = |3 100%m - 12345 Km
' 6h-Ch,
= T35 Hm
6
= 1258 Km/h

,’t AVERAGE, me’{ OF CHANG L => AROC
& = MO bects/min - 8C beats fmin
'7 n - _Q D’un

= ©0 beats Z[Izm

'"Mftn
= 857 bea‘r@/mm/min

o) Tk He shicts are 9935 ey witl s\l 8O shrts

IF the shicts are #30,theg will sell Mo Shirts.

ARCC = SOshirts = MO shicts o
$25- $30
= |0 shirts
=55
= =23, shirts /m

When the price s increased from #9950 $30
for every 81 increase in pn'ce)-’rhaﬂ Wi G\\\?
Sell 2 Fewer Shirts.

3 %J\C e costis 3,@ persmrt;ﬂ@‘é\smléﬁ)s}urtﬁ‘

For evéry 95 per shirt intrease , Ehey sell
0 less=shicts - i Y

a) I]Qﬁ\g: rase the price frem 990 o 3‘&)5)
‘H\g_a Wi sell 0T shicks.

l)) HFLOC= bosh\rh = ‘Q Shicks ’

890 - 953
= 10 shicts
WHS
= - QJG}L.H—S/G |
For every #l increase in price ) they will
)
Seil 2 B'Fcawer‘ shirts E

4. At He beqaning of thetap = time =0 he
e J e e d\sfulncé= O Km

)

i) fwo \fEurS- AROCC = I"JSI_jm-Ohm
°£ {hr.‘s —Qhrs
= 115 Ko

2 hrs
=%1.5 Km/hr



(1) four hours . AROC = 825 K — O Km
4 hrs— Chrs
= 325 Km
L s
= 81.25 Hm/h

i11) ten hours. ARCC = 850 Km ~OKm

lohrs — Ohrs

= R[S0 Km
1C hes
= B9 Km I h

@) We have C\\read\a found the averace speed
during the First 2 hours, M hour ‘QV’\d
\O \’@u s in Part (@)
et's find The average speed during
Hhe fiest hour and e Brest T hours ¢

L1 hour ARCC = 50 Km —OKm
lihe = Ohr
= BOKmMm
| he
= BOKm [h
Ly 1 Heurs ARCC = 60O KM —O Km
» Thes = Q hes

= 00Km
1 hrs
= 857 Km|h

b) TH is difficu it o find the average
Speed during the first & hours™ts
wWe only have specific information
re qrdmﬁ 4 hours ofter the start of
Jrh@ toprand 7T (“Eurs after the start
of the Hrip.
\Jou Could onl esﬁnla-fc using the values
\ven Qs a gu\dcg

-~ 8
Therefore ; using all of Hhe avallable
information w% Know Hhat from e

Hour | 1o Hour 2, the speed increased from
SO Km]h +o S79.5 Km)h

Hour 2 4o Hour M, the speed decreased
froem 315 Wen|h Ho 5155 KR

Hour 4 +o Hour | the sSpeed m&?ﬁu
from B1-25 Km|h 40 €57 Kmjh’

Hour T 4o Houe 10, the speed decrensed |
from 857 Kmlh 4o S5 Km|h



N .

d) The distunce ~hme relathionship s not
lincar Since 4he increase durin
©

i

gy’ﬁi“he_ﬁrsﬁ-
ur s 80Km but itis not 160! durur)ﬁl
< next +wo hours.

To find out iF +the distance —time relationship
is %era+lc o could input the
Hwo Y Mhists" in

the graphing calculator
ch;d "Ceheck . 9 . So;:l .
nce Jou determing 4 ucdratic
€ ucﬁrsc‘\:a\ and (jrt}bh |'\T\}_O prirabola
isTnot formed

The distance— tHime relationship is
therefore not quadratic erther.
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